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Part A

Answer all guestions. :
Each question carries 1 mark.

What is Job costing ?

What is Batch Costing ?

What is Escalation Clause ?

What is meant by Retention meney ?
What is Process costing ?

What do you mean by by-products ?
What is break-even chart 7

What is key factor ?

What is meant by budgetary control 7
What is performance budgeting ?

(10:=1=10)
Part B

Answer any eight questions.

Euach guestion carries 2 morks.
What are the various technigues of costing useful for business decision making 7
What is meant by contract costing ? State its features.
Explain Cost-volume-profit Analysis.
What are the uses of Break-Even Chart 7
What 1s differential costing ? State its features.
Explain the nature and uses of batch costing.
Why is a portion of profit on uncompleted contracts transferred to the profit and loss accont ?
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From the following information, détermine economic bateh nuantity :—

Annual requirements woo 1600 units.

Cost of materials per unit .. Rs, 40

Cost of placing and receiving one order ... Hs, 50

Annual carrying cost of inventory -« 10 % of inventory value.
You are given the following data :(—

, Rs.

Fixed cost 20,000

Variable cost ... ~ 20,000

Sales - 1,00,000

Caleulate : PV ratio, BEP and Margin of safety.

From the following information, prepare a process account, 1,000 units at Hs. 40 per unit were
introduced in Process 1 :

Rs.
Laboor cost o 5,000
Material ae 20,000
Froduction overhead .. 3,500

The normal process loss has been estimated at 10 % of the input which can be sold at Rs. 10 per
unil. Actual production was 920 units.
' (8x2=16)
Part C

Answwer anysix questions.
Each question carries 4 marks.
Explain the features of Job costing.
What are the ohjectives of contract costing ?
Mention the advantages and disadvantages of break-even analysis.
State the advantages of budgetary control.
Distinguish between Job Costing and Frocess Costing.

The following was the expenditure on a contract for Rs. 6,00,000 commenced in
January, 2009 —

Rs.
Material - 1,20,000
Wages . 1,64.400
Plant s 20,000

Busineas charges .., B,600
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Cash recoived on aceount Lo 81st December, 2009 amounted Lo Rs. 240,000 boing 80 % of work
certified; the value of materials in hand at 3150 December, 2009 was Hs. 10,000, Preparn the
Contract Account for 2009 showing the profit to be credited to the year's Profit and Loss Account.
Plant is to be depreciated at 10 %,

The information given below hias been taken from the costing records of sn Enginoering works in
respect of Job Ne. 621
Materials Rs.- 4,010
Wages . Department A-60 hours @ Rs. 3 per hour.
Department B-40 hours @ Re. 2 per hour
Department C-60 hours @ Rs. 5 per hour. :
Owverheads for these three departments were estimated as follows
Variabie overheads i
Nepartment A Rs. 5,000 for 5,000 labour houra,
Department B Rs. 3,000 for 1,500 labour hours.
I}épart-ment- C Hs. 2,000 for 500 labasr hours.
TFized overheads :
Estimated at Bs: 20,000 for 10,000 normal working hours.
You are required to calculate the coat of Jub 62 and caleulate the price to give profit of 25 % on
gselling price.

Present the following information to show to the management ; {a) The marginal product cost and
Lhe contribution per unit ; (b} The total contribution and profits resulting from each of the following
sales mixture and state which of the alternative sales mix vou would recommend to the management
and why 7

Particulars Produrt A  Product B
Hs. Rs.
Direct mateérials per unit ... 10 U
Direct wages 3 2
Sales price 24 . 15

Total fixed expenses Re, 800, Variable expenses are allocaled to produdts as 100 % of direct wages,
Sales mixtures

(i} 1,000 units of product A and 2,000 units of product B.

(ii) -1,500 units of produet A and 1,500 units of product B,

(i) 2,000 units of produet A and 1,000 units of product B.
: (6 x4 =24)
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Part D

Answer gy bwo quesiions.
Each question carries 15 marks.
Explain various accounting treatment of joinl product: and byv-products.

Product X is obtained after it passes through three distinet processes. You are required to prepare
process account from the following information —

8 3

Total Rs. Process
l—h—
I1Rs. II Rs. 1M Rs.
Material A 15,084 5,200 3,960 5,924
Direct wages 18,000 4000 8,000 R.000
Production overheads ... 15,000 —_ —_ —

1.004 units at RE- & per unit were introduced in Process [,
Production overhead is Lo be distributed as 100 % on direct wages.

Actual output Normal Value af scarp per
Frocess L/t Loss wriit Rs,
I 950 B% 4
Il 540 10 % B
B TH0 15 % 10

81. The expenses for the production of 5,000 units in a factory are given as follows :

Per Unit

Rs,
Materials 50
Labour 20
Variable Overheads 15
Fixed Cverhead (Rs, 5§,000) Fir 10
Administrative expenses (5 % variable) 10
Selling expenses (20 % fixed) é
Distribution expenses (10 % fixed) ' 5
Total eost of sales per unit . 116

You are reguired to prepare a budget for the production of 7,000 units,
{2 x1b=30}




